Ao A7) KEY

Economics 102 Name '
Fall 2017 TA Name
Second Midterm with Answers Section

Date: Thursday, November 16, 2017

The exam consists of three parts: (1) 11 Binary Choice Questions worth 2.5 points each (27.5
points total); (2) 20 Multiple Choice Questions worth 3.5 points each (70 points total}; (3)
Administrative Points worth 2.5 points that are awarded to you for correctly filling out the
required information on your scantron and your exam booklet. Please accurately and completely
provide your name, student ID number and section number on the provided scantron as well as
on the exam booklet. Answer all questions on the scantron sheet with a #2 pencil.

NO CELL PHONES, CALCULATORS, OR FORMULA SHEETS ARE ALLOWED FOR
THIS EXAM.

PICK THE BEST ANSWER FOR EACH QUESTION.

Section Time and Location TA
340 Fri. 9:55 AM - 10:45 AM, Social Science 5322 Steven Zhang
341 Thurs. 3:30 PM - 4:20 PM, Social Science 5322 Lois Miller
342 Thurs. 2:25 PM - 3:15 PM, Social Science 4314 Lois Miller
343 Fri. 2:25 PM - 3:15 PM, Social Science 6203 Lois Miller
344 Fri. 11:00 AM - 11:50 AM, Van Hise 140 Lois Miiler
345 Fri. 12:05 PM - 12:55 PM, Ingraham 116 Yunhan Shin
346 Fri. 8:50 AM - 9:40 AM, Ingraham 214 Yunhan Shin
347 Fri. 1:20 PM - 2:10 PM, Ingraham 222 Yunhan Shin
348 Fri. 2:25 PM - 3:15 PM, Social Science 6102 Yunhan Shin
350 Fri, 11:00 AM - 11:50 AM, Van Hise 595 Steven Zhang
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L , agree to neither give nor receive any help on this exam
from other students. Furthermore, I understand that use of a calculator on this exam is an
academic misconduct violation. I also understand that failure to cover my answers is academic
misconduct: it is important that [ maintain the integrity of my work and that T do not make it
available to other students.

Signed

Part I. Binary Choice Questions (11 questions each worth 2.5 peints = 27.5 points)

ﬁfg 7 1. Given the following information and holding everything else constant, what will be the effect
Hd on an economy’s GDP if its government spending increases by $1 billion, its consumption
‘ decreases by $2 billion, and its self-employment income increases by $1 billion?

P A /72
(@:’GDP decreases. &r b ] / /’) £, MM Fire o A v
b. GDP stays the same. Coddosg K213 f@}/ﬂw&/ =D

fl/}j 7 #A72D 2. If the central bank commits to a fixed nominal interest rate policy (that is, the central bank will
insure through its policies that the market interest rate stays constant), what does the Fisher
Equation predict about the real interest rate when the expected inflation suddenly rises.

37 The real interest rate decreases. %&f/ﬂgfmmﬂlff Aol 19 jfémfmff el consieny
b. The real interest rate increases. po f-iTe F T 7D Diten —ide
Just 3. In 2016, Joe Landlord buys an apartment building that has 5 apartments for $200,000. In 2017,

MATH 7 Joe rents each apartment for $500/month, and hires a cleaning company to clean the apartment
AP Lich - building for $50/month. How much do Joe’s activities add to 2017 GDP? P st s
| (5% 500)X 12mn¥4[ = £0(500) = 3050 0 bocifapt e
(@EE50) ¥ 2 mmlh = £ OfEE) = Yoo

7 3

5 bo s f‘ﬁ"’

£ fH? ‘ 4. Are discouraged workers included in the unemployment rate?
DeFmls }'}(‘)A} a. Discouraged workers are not included in any measure of unemployment.

@ Discouraged workers are not included in the U-3 unemployment rate, but they are included in
the U-6 unemployment rate.
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5. The following graph describes U.S. real GDP in terms of the percentage change from the

preceding period. The source of this data is the U.S. Bureau of Economic Analysis.

From the above graph, we can see that there was an between 2008 and 2009,
a. economic boom Po A G dwrmﬁ‘f'hf( Wﬁn{ Wit /L¢7&;{;{w :
@eoonomic recession &P il ﬁ m 4

6. Suppose that we know the value of the CPIin 2015 is 150 measured on a 100 point scale and
the inflation rate, based upon this CPI, between 2014 and 2015 was 25%. Given this information
and holding everything else constant, then the base year must be 2014. Is this argument true or

false? ; - . k
o Vil A1 far (O OMEE L [1504:.];@026:2%

P

a.True  2o/f sl e w0 ) 267 EEE
False ion ! T Ay 22 T
@ ' ity 2018 ! Y - LoD 4x

7. There are a lot of ways to measure a price level. We studied two examples: the GDP deflator 55X =608

DL ToN g.and the CP1. In order to calculate the GDP deflator, we need to utilize the same _pwiggs from ¥ =/z0

fiol
HAAD

the base year. To calculate the CPI, we need to utilize the same %ﬁa defined as the market
basket.

a. quantities; prices
b prices; quantities

8. Consider an economy whose aggregate production function can be described by the following
equation where Y is real GDP, K is units of capital, and L is units of labor:

Yy=2 KOA L(],6

Given this information and holding everything else constant, what happens to the productivity of
labor in this economy if the amount of labor (L) increases? (WQ(J-DF’

1. The productivity of labor increases. ‘_(:, -
@The productivity of labor decreases. Y) y i

{

i ii !
[ L 2k
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o7 9. An economy uses capital (K) and labor (L) as inputs of production. If the adaptation of

f"f“M) automation technology increases the amount of outputs at every level of capital (K) and labor (L)
inputs, what happens to the productivity of capital and labor? Given this information and holding
everything else constant, the

S
@roductivity of labor and the productivity of capital increases.
. Productivity of labor decreasedand the productivity of capital increases.

Not 10. Suppose that real GDP in Arcadia is $1000 in 1970 and $16,000 in 2010. Furthermore, real

HAED GDP in Arcadia grows at a constant annual rate. Given this information and holding everything
else constant, real GDP must be growing at:

@7% a year
b. 10% a year

Dﬁﬁ;'ﬁﬁﬁf 11. The demand for loanable funds measures which aspect of savings? The

a. Sources of savings i)
@Uses of savings o judd &0 ;

&, Ladr
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Part II. Multiple Choice Questions (20 questions each worth 3.5 points = 70 points)

Use the following information to answer the next TWO (2) questions.

Suppose the economy of Goodstown’s production for 2016 is characterized by the following
table:

Good Pretzels Sweaters Chairs
Price of good $5/unit of pretzels $20/sweater $10/chair
Quantity of good 100 units of pretzels | 70 sweaters 20 chairs

12. Given the above information and holding everything else constant, what is Goodstown’s
GDP in 20167

(52,100 Gpt= 210

b. $1,800 a03 (70)(20)

c. $190 Lnr = [{_y)[’me‘)% 2o (70) () £ )
d.$2,500 é:Df/?’ Lio + /%QC) 4 280 = L

13. Now, suppose that in Goodstown in 2016, the value of exports is $700, the value of imports
is $1000, consumption spending is $1,500, and investment spending is $500. Given this
information and holding everything else constant, what is the value of Goodstown’s government
spending in 20167

a. $600 -2

b. $1000 X =700

c. $100 /M = 1000

(@)$400 g =/500
7 250D

éﬁﬁf) = A/ 40 ]Z;dw. /gw bofeom (/z,)

e (r T4 G (X *
eor . L G+ (F00-1000)

2700 = [$00¢50C
_ 300

2,00 * A0 7 G
e = /70076

&4 go =
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Use the following information to answer the next TWQ (2) questions.

The small, closed economy of Youngstown has 3 firms: Mike’s Dairy, Pepperoni Inc., and Pizza
Palace. Mlke s Dairy produces cheese and Pepperoni Inc. produces pepperoni, and both sell all

their goods to Plzza Palace, who produces pizza.

[

[,

Mike’s Dairy Pepperoni Inc. Pizza Palace Tt
Interest Payments $700 $1000 $4,000 Sroo
Rent $200 $700 $1,000 {Foo
Profit $3000 $200 $2,000 Szeo
Total Sales $4.,500 $3,000 120,000

JEFn ,&@@LM Given the above information and holding everything else constant, what is the value of GDP

)‘?— ff?f e
WOrE

ANoZ”
AT

FA2D  ($7.200

in Youngstown?

= Y e, d2E
(2,/$20,000 vaLez oF FIN AL G055 yj%?ﬁ&fcf“féy i;ﬁ e
b. $27.500 e T ore. v s hosnia s
c. $12,500 Chreese 1 g2y J
d. $40,300

15. Given the above information and holding everything else constant, what is the sum of the
wages paid by Mike’s Dairy, Pepperoni Inc., and Pizza Palace?

a. $14,700 B
b. $13,000 e = Jé{/yﬂ'?mf /‘?ﬂ,ﬂi”é}ﬁé/’ ' 700
d. $5.500 _ | ! L, f;yé%* /G0
EPP= Wa:g@f F pakepeat F pont 1Y 5200
i . o o (ﬁ gz’éj {_‘}
P, a0 - /00y 520 J 2
6op = Wt
08,000~ Wiges ¢ /2890
7 A5, 20
from #/7 Wiger =7
' a3

e
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Af PucATION 16. Tn Waysville, painted wooden toys are produced. Timber Inc. produces $6000 of wood and it

OF
D Tionl

sells this wood to Toy Shapers. Toy Shapers uses the wood to make wooden toys, and then sells
all of these toys to Paints Inc. for $9000. Paint Inc. paints the toys and then sells them to the
public for a total of $15,000. What is the value added by each firm?

/

X
a. Timber Inc: $6000; Toy Shapers: $9000;/Paint Inc: $6000,.

@Timber Ine: $6000; Toy Shapers: $3000; Paint Inc: $6000

Aol
(34D

c. Timber Inc: $O»Z“T§PI Shapers: $6000; Paint Inc: $9000
d. Timber Inc: $3000: Toy Shapers: $6000; Paint Inc: $15,000

17. Suppose the economy of Bluetown has a population of 20,000, of which 2,500 people are
less than 16 years old. Of the remaining population that is 16 years or older, 1,500 people are not
in the labor force. If 8,000 people are employed in Bluetowr, what is the unemployment rate?

a. 45%
b. 56%

€50%

d. 40%

26 poo  pd sl
S
500
e

/ 500 ﬂ-a"/?m / abidv /‘;”a

/6,009
/ £
g -
Zm £ﬂ’7dﬁ2//
(lae /'97%:( =Y
g ooo UAEVT $ogd (10076) © 5079,
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fﬁ}’y " 18. Raymond, a Hollywood actor, is actively seeking new acting opportunities after the release
wfof his debut movie. This is an example of which of the following?

= I
e e‘ff{}?ﬁmw/é?}um/gd{&f ?’é )
a. Structural unemployment 7; i W Loy Search F o 5k eGiTh
@ Frictional unemployment ' i #
; . ¥ vty Aﬁgﬁﬁ(ﬂﬂfﬁ?ﬁ £ i FICH,
¢. Cyclical unemployment 3 éw fé F i ,74 7o 7

d. None of above
A ?},,, 7 19. Which of the following is an example of cyclical unemployment?

ALiEE _.a. The manufacturing plant Anton was working for shut down due to foreign competition. S Aecefrraf
Il b. Beverly quit her current job to reunite with her boyfriend who lives in another state.
¢, Charlie lost his job as a truck driver because his company switched to using self-driving trucks. § e efer wf’
d. During the U.S. recession, Daqing, a manufacturing worker in China, was laid off from his
manufacturing job due t(fle decrease in U.S. demand for the product he manufactured. ¢* / chitaf

7 4{? s Sielrn
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Use the following information to answer the next THREE (3) questions. [Caution: this set
of problems does entail numerous calculations - be careful about your time management

here.]

Suppose that the Wisconsin economy produces only two goods: cheese (C) and waffles (W). An
economist in Wisconsin, Dr. Badger reported the following data to the Madison
Macroeconomics Research Center. Use this data to answer the questions below.

~ Wisconsin Data
Year Price of C per | Quantity of Price of W per | Quantity of W
unit of cheese | units of C waffle per waffle
2013 $ 5 $10 5
2014 $5 [thio] 10 $15 10
2015 $10 10 $15 5
2016 $10 15 $20 "2 10
¢ 20. Dr. Gopher, a friend of Dr. Badger, received a paper report describing the recent economic
mE g g
Wik K conditions in Wisconsin. While reading the report, Dr. Gopher spilled his coffee on the report
and part of the paper were blurred. Help him fill in the following blanks:
10 cheese ; 10waffles
7
Using the quantities from 2014 for the market basket, and 2014 as the base year, the CPI
for 2013, 2015, and 2016 are _ £5 , 125, and [$T respectively. When it comes to an
inflation rate based upon this CPI, the inflation rates of 2014, 2015 and 2016 are 33.3%,
25%, and respectively.
o~ _ji’bw ug«i—a{— pwrgafal bﬁ%}:{’ crl By XA } 'Z_/i'{mm neke
a. 80: 150; 20% ' N . 15 I Cioo) 2 S —
b. 80: 125: 15% 2003 o+ wf__f lgc'i_ T o mme) SRy
&% 1502007 “Jaiq___Gor 18030 Tes (o) =100 333
(1] et e
3. 75, 150159 Tyeis  igot (s0=EY Z o6y =125 257%
? > T uib joU+ g6 # 300 %’ﬁ fies) =150 JR)] -—i'x.S"Gm@)
iy
[oTTo 21. Dr. Badger calls Dr. Gopher and clarifies that the true price of a unit of cheese in 2014 is n(;t
(9 ; $5, but $10 and that the true price of a waffle in 2016 is not $20, but $25. Using the corrected ! 2 [k
KEEY ; {
TRACK data and the quantities from 2014 for the market basket, and 2014 as the base year, what arc the %
0 g correct numbers for the CPI1in 2013 and the inflation rate in 20167 7
s s 20 4
/ - N
/ME a. 50; 33% Ym,r CNJ; Mkﬁkm CF“’“ ‘wiim g g
7 . 50; 40% i ' isv ., o
NOTHAD b 50; ] 122 i) { @0 —
: )/M 60;33%‘/ 2013 bo+ (00 =150 28
o (4)60; 40% T
ARE . = 25D = (fov) 7 [0
{ joo+ 5T 157
NE THoDILA L 261
2014 fopt+ SV 25D jg "") i"f
T T e :
_ - fop + 2507350 287 =10
350 2t 1 5 (1) *11
! 3
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Adoi 22, After updating the table with the correct data (those provided to you in the last question), Dr.

OF Gopher now uses the quantities from 2015 for the market basket, and 2015 as the base year. He

avi? — finds that some numbers from his calculation are equal to the case when he uses the quantities
pul from 2014 for the market basket, and 2014 as the base year. Among the following measures,
PIARLER which numbers are the same between the two different base years?

(Pioct BYIAS Ui Moo ket oot 10 cheese, S wagt,

AEEd P56 | cprinaota T fov 7o
CAREFVE 1 cplin201s 7 /o2 ré2
IIL. Inflation rate from 2014 to 2015 7~ o -
Yeor Lot Wbl St [ aflutom Eale C/*”w L i
a.l _. - .%C@c;}z S
b. Tand II 2017 ferse=too j—z";rmf;”
1T and IIT ’ ‘ . T (ree) FHO0
y b LG TF i) e
@L 11, and 111 207 uﬁféji.iﬁ_ﬂww_} S TR LT
aeisT s Feeied 26 ﬁ_’;f/&’«‘) —{00
Y ST 2T B =140
/g, [o7oF" 23. Suppose people in Wakanda consume 3 different goods. The following table shows the prices ,
KoK K,j and quantities of each good consumed in 2014, 2015, and 2016. e
% -
Year | - Price per Quantity of Price per Quantity of Price per Quantity of
Apple Apples Banana Bananas Melon Melons
2014 $3 10 $4 5 $8 10
2015 $5 20 $5 8 $10 5
2016 $7 15 $6 10 $6 5

Black Panther, the great prince of Wakanda, calculates the GDP deflator in 2015 using three

different base years. .
peak = advin { j‘fﬁ»&]

%ﬁﬂé} = 1. GDP deflator in 2015 when the base year is 2014 o do
{00 = 11, GDP deflator in 2015 when the base year is 2015 é Vds _’ffiﬁ\ = sy M e&i}é
138 oo E III. GDP deflator in 2015 when the base year is 2016 P’ 7/ A Vi [f{ 3{_@27
g JL ety L >80 Gl deflate ~ 7Ed
—3 What is the correct rank of these three GDP deflatorégoing from the largest numeric valug:} to the
smallest numeric value? TR e T
| \ Wow 697 T 5
Cayt > 11 > 1 Yewr  Wow&DF
b.1> I > II Ro0iy patRerkec o —
c. Il > I > 1 Y,
41> 1> 1 | fo s 4ot S8 =120 —

2l jaSEbor Jes 195

L T

Read0F o s i+ 17 G Ao gy \ Bk Ryoets COPf e Pty G,

. ™~ ¢ . -~ K r
Loy / 30 oo N
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MMW 72,00 (10)

Som& 24. You are provided the following information: the CPI in four different states in 2015; each
WK state’s 2016 inflation rate based upon the CPI, and each state’s nominal monthly salary in 2016.
Stat CPI in that State in Inflation rate in Nominal Monthly y"mﬁ
ate 2015 Cflwip 2016 Salary in 2016
Minnesota 120 POy 20 % §7,200 H5 e
Wisconsin 110 100 10 % §5.445 Py szo
Ilinois 00 4oic 10 % §5,445 5582

Michigan 130 132 0% §6,500 Foou
Given the above information, which state has the highest real monthly salary in 20167

a. Minnesota P

. Wisconsin §w wwlc ]@e/ IR
¢ Allinois
d. Michigan
N@’[‘ 25.If a country is experiencing fast economic growth in terms of its GDP growth rate, then this
HAED implies which of the following?

a. The population size of the country is growing.

b. The income level is rising for everyone in the country.
¢. The quality of goods and services produced in the country is improving.

JNone of the above statements are undeniably true given the provided information.
Soon
Lo H 94 [ gavoco
2% 000 ¢oc) = 50Cios) ="5000 7'?}?@
jz

I (] C?EW;”"‘“‘

g
g

j 44

515 j00) -
J27

5445 (092
71(11)

S44E (o) S5

77
psoylioo) = 5000
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Use the following information to answer the next TWO (2) questions.

The city of Gotham has an aggregate production function described by the following factors:

"/ _{‘-ﬁ& gt
The level of technology is determined by Lucius Fox. wk%; = i
The current level of technology in Gotham is 10. L=k
Capital is only supplied by Bruce Wayne, the richest man in the city. }/";" 10 m J1e
The level of capital is constant and equal to 64 units of capital. >/ wio- ¥ ¥
\/ = 2

Labor supply is determined by the people living in Gotham.
Currently, the people in Gotham supply 16 units of labor.

Aggregate Production Function: Y =g K122

Where Y is real GDP, K and L are the number of units of capital and labor, respectively.
Finally, £ denotes the level of technology which is currently equal to 10.

Bruce Wayne consults with Lucius Fox about how to boost the level of real GDP in Gotham. /
Suppose that Bruce Wayne decides to supply more capital and at the same time Lucius Fox ‘.
succeeds in developing a new machine which increases the level of technology.

8T8 26. Given this information and holding everything else constant, capital productivity will
5 49 and labor productivity will

¥ decrease; be indeterminate
XK. increase; be indeterminate
c. be indeterminate’ decrease
@3 indeterminate; increase

v Ky

Sem& Over time, the economic condition in Gotham returns to its initial situation. Suppose that Joker

WaveK then invades Wayne Manor and destroys 28 units of the capital supplied by Bruce Wayne. At the

e (es/RED same time 12 units of labor decide to work in another city because these workers have serious
concerns about the safety of working in Gotham.

27. In this new situation, capital productivity will \L’ . Labor productivity will by
relative to the initial situation.

K -pY-2k s Bh
L’I !(:;»/Z = ;?L

v, Voo .
a. decrease;ahcrease;,5 units of output per unit of labor
decrease increase; 10 units of output per unit of labor
c. 1ncreasex decrease; 5 units of output per unit of labor

d. 111creaséi decrease; 10 units of output per unit of labor \Jf %7,0 VY “'Q W“ﬁ / mwf‘?ti
y R S ‘5[?—; Li ! b

§ Szlg,_«ma(ﬁmszw L ‘}’}-@ IS W/w:g 14
0 o ks 4
TS a1 mum et ] [T
L!
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Use the following information to answer the next TWO (2) questions.

Consider an economy where the demand for loanable funds from businesses and the supply of
loanable funds from households (private savings) are given by the following equations where Q
is the quantity of loanable funds and r is the interest rate:

Demand for loanable funds from businesses: Q = 1,000 - 100r
Supply of loanable funds from households: Q = 200r - 500

In both the demand and supply for loanable funds equations the interest rate 1s expressed as a
percentage (thus, if the interest rate is 3%, then the r in the equation would be 3).

Seme 28. Initially assume that this economy is a closed economy and that the government in this
THowé+#7 economy has a balanced budget. Holding everything else constant, if the government decides to

REpuREF 2 surplus of $600 we know that:

a. The equilibrium interest rate in the loanable funds market will be greater than 3% and that the
level of private investment will be equal to $700. /
b. The equilibrium interest rate in the loanable funds market will be equal to 3% and that the
equilibrium level of private saving will be equal to $700.X FW‘»&&'W = #{0D

é he equilibrium interest rate in the loanable funds market will be equal to 3% and that the

quilibrium level of private investment will be equal to $700. v~ J,(

d. The equilibrium interest rate in the loanable funds market will be less than 3% and that the
level of consumption spending will decrease.

ABIT 29. Starting from the initial case with the balanced budget, if the government decides to run a

CHAUBEIN G ficit of $900 we know, holding everything else constant, that: < D “’; . (§=14¢6¢ ~00r
— o v 24, 60~ jcor = 007 5T
rlvate saving will increase by $600. 'l BV 2442 =300

5. Consumption spending will increase by $300. X N N 3 g ="
¢. Private investment will be crowded out by $_900. X ™ ¥ 0‘#‘"
d. Private investment will decrease by $100. X N R A & J
; \__um__ R 7 ;F@ - 152
fea-om—zo@rsmﬁflf-ffm“ T Aif“ig"@a 7
j Svo = 30d 5’@ AL~
- 1= AU —
5=2v Z
Sirphus Sl D2 0ft o bt
r it by 660
ﬂ@uf"’p &)= 2000 # 100

ro>37 520
C Vv, = A0 7=
/&f‘f~ﬁm¢5’55‘w’}7’ v
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somz 30Tt is never too early to think about retirement plans. Your financial service provider gives you
wdzyc  the following plans for growing your retirement portfolio:

Plan i) Invest $10,000 today in the form of a bond that earns 5% per year
Plan i) Invest $6,000 today in the form of a bond that earns 7% per year
Plan ii1) Invest $3,000 today in the form of a bond that earns 10% per year

Suppose your goal is to have at least $100,000 in your portfolio by the vear 2057, which
investment plans meet this goal?

a. Only Plan (i) meets the goal.

b. Only Plan (ii) meets the goal.
@Only Plan (iii) meets the goal.

d. None of these plans meets the goal.

(e 31. The current nominal interest rate is 0.5%. The central bank pledges that it will raise the

{;&wfgf(; nominal interest rate by 30 basis points (1 basis point = 0.01%) each year for the next five years.
Inflation is expected to be 2% over the next five years. Given this information and holding
everything else constant, what is the level of real interest rate five years from now?

1.5% 0 m;‘,u@:ufw wmrﬁmm:ﬁd%
b0 % e | e pE3
c. 1.5 % [ haet y e
. .0 0 E,‘S.f?g t/' e AFYh ey
d.2 % e =5
i e cead & ﬁ -2 % @?a
,"“‘%:j;—é:

End of Exam! Thank you!
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